6 by 6 Numbricks Puzzles (Easier)

Fill the grid with the numbers 1 to 36 to make a non-stop connecting path.
You may connect the numbers horizontally and vertically (not diagonally).
You must connect all 36 numbers.

20 16| 15 1 35 2

18 13 31132336 |5 4
22 9 29 14
23 8 28 13

35 4 26|23 | 22[11 ] 12|17
33 31|30 6 24 19
31 12 21120 516

29 (24 |21 | 14 22 7

28 15 35 | 16

27 16 34 |15

2 @18 17 29 10
7 30 | 31 12 |11
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Answers

Fill the grid with the numbers 1 to 36 to make a non-stop connecting path.
You may connect the numbers horizontally and vertically (not diagonally).
You must connect all 36 numbers.

20|19 16]15[ 1211 (36)35|34|(1) 2 | 3
21|18 [ 17 14|13 10 311320336 | 5|4
22|25 26(1)] 2 | 9 30|20| 8 |7 |14]15
23124 (27]28] 3 | 8 27128 9 [10 1316
34|35((36) 29 | 4 | 7 26| 23| 22|11 1217
3303231(30] 5| 6 25|24 2120|1918
31030 (231 22] 13] 12 21120(19] 18

32129 | 24121 14] 11 22 | 23 17

O | 0 | X | S

33 128 (2520 15|10 25124 | 35| 16
34 127126 19|16| 9 26 | 271 34| 15

5
4
3
2

35| 2 |(1) 18]17] 8 29| 28|33 | 14/(1) 10
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